
 

 
VEG   

   VEG 

 
  VEG        
    .    
        
,        
 , . .       . 
  VEG    ,  
  ,    . 
  VEG        
 : 6, 8, 12, 15, 30, 63  100 ,     
 .     1 o 20,   
  3 3/.  ,     1,2  3 
3/.  .,      1  12,   
   14,5 3/.  ,     0  
14,5 3/.  .        
   ,    
  ,  ,   .  
    ,   230/400 , 
415   500 ,        
.   
 

 
     ,      
  .        
 ,       ,    
20.    ,       
 .  ,      
.        
      ,  
     ( – ).   
         
     .      
 10,5       ,   
    M16x1,5 ,    
. 
 

 
   (    
 ,   )    
    ,      
   .        
          
,     –  .   
          
   ,      
     .   
.         /  
   ,    –    
.        , 
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    ,   
 .        
 ,       
         . 
 

,     
        
  10,5 .      
    ,     
       .  
   , ,    
      .   
  . 
  ,       
    .    
       ,     
     .   
       
.    ,     - 
  . 
    ,      
     .     
    ,     
  ,       
  ,  . 
      , 
    .       
,  .        
 .        
      . 
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  

  300  
  250  
  3 3/.    

14,5 3/.   
     1,5  3 3/.   

 0  14,5 3/.   
    0, 6, 8, 12, 15, 30, 63, 100 3 
   1  20   

 M16x1,5 ,  
 TR 10  ( 1,2  3 3/.  
) 
 1  12   
 G ¼“,  TR 10  
( 0  14,5 3/.  ) 

 230/400 ,50 , 0,37   
500  , 50 , 0,37  
415  , 50 , 0,37  

   24   , 2 A 

                     
 . NLGI - 2 
 . 50 2.-1 

    - 25  40 0C 
 35  (   ) 
 

: 

,     ,  ,   , 
      ,    
   .      
     ,     
  (. ).     VEG   
          
   .    
  ,        
   ,   .    
      .   ,  
      ( ), 
       (. ). 
   6       
 . 
 

 : VEG 2091 - 7 - 100 - 0 

  VEG     12 3, 9 ,  
  3 3/,     
    ,  230/400 , 50 ,  
 ,   ,   . 
 
 
 
 
 
 
 
 
 
 
 



 

 
VEG   

    VEG 
 

 
 
 
 
 

a 

2 
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6 3 ------------------------------------------------------------------------- 1 
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   ------------------------------------------- VEG 

    

b 

09 

 1 -------------------------------------------------------------------------- 01 
2 ---------------------------------------------------------------------------- 02 
3 ---------------------------------------------------------------------------- 03 
  
20  -------------------------------------------------------------------------- 20 

  ( ) 

d 

1 
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  :  
*       –  – 0 -    : 30   

 13 .  
*      MWDr/WDa –  – 1 -   :  30   60   

 13 .         
 ,   SN IEC 721-2-1.     
   60    13      .  

**     – – 0 -   230VD / 400VY, 50   // 
460VD, 60 .  
    IP55,    155 (F)  
  B,     -200C  +400C.  

**     –  – 1 -    –    
. 
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